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9. * TAKS REASONING If csc 6 = = and g < 0 < m, what is the value of tan 6?
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SIMPLIFYING EXPRESSIONS Simplify the expression.
10. sin x cot x @ Sin (Z6) 12. csc 6sin 6 + cot? 6
cos (—0)
cos (g - x)
13. cos 6 (1 + tan? 6) 14. 1 + tan? (ﬂ - x) 15, —= ~
2 csC X
cos (g - 0) 2
16. + cos? 6 17. sin (ﬂ - 0) sec 18. COS X
CSC 0 2 Cotz X
. T _
19 secxsinx + cos (? x) csc? x — cot’ x 21 cos® x tan® (—x) — 1
: 1+ secx * sin (—x) cot x ) cos? x

ERROR ANALYSIS Describe and correct the error in simplifying the expression.

22. 23. .
1—sin?9=1— (1 — cos? 0) tan (—x) csc x = ::;); : 5i:| X
=1—1—cos? 0 1

2 ~ cos x
= —cos“ 0
= sec X

24. %P TAKS REASONING Which of the following is the simplified form of the
expression cos 6 sec 6?

@ tan 6 ® 1 © 2 ® 1-sin?6

VERIFYING IDENTITIES Verify the identity.

25. sinxcscx =1 26. tan fcscOcosh=1

cos(g—0)+l

27, — % =1 28. sin (X — x|tan x = sin x
1 —sin (—0) (2 )
csc? 0 — cot? 6 2 2 )
29, =————— =sec" 0 30. 2—cos"0=1+sin"6
1 —sin“ 60
. sin® (—x) 2
31. sinx + cosxcotx =cscx 32. —— = Co0s"Xx
tan” x
33, LFcCosx . sinx _,.q0y 34, — SIMX  _ ¢cscx + cotx
sin x 1+ cosx 1 —cos (—x)

35. ODD AND EVEN FUNCTIONS A function fis odd if f(—x) = —f(x). A function
fis even if f(—x) = f(x). Which of the six trigonometric functions are odd?
Which are even?
VERIFYING IDENTITIES Verify the identity.
36. In |sec 6] = —In |cos 6 37. In |tan 8] =1n |sin 6] — In |cos 6]

38. CHALLENGE Use the Pythagorean identity sin® § + cos 6 = 1 to derive the
other Pythagorean identities, 1 + tan® = sec? and 1 + cot? 6 = csc? 6.
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